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II.

Please describe the following concepts either in English or Chinese (30%; -
5% per item).

1. Diversity tramning o -
2. Identity

3. Symbolic interactionism

4. Role conflict

5. Self-fulfilling prophecy

6. Emotional labor

Please choose an appropriate answer to each question (40%; 4% per item).
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8. Which is not characteristic of Michel Foucault? (1) He compares modem
society with Jeremy Bentham's "Panopticon” design for palaces; (2) In the
Panopticon, one can watch over many others while the one remains
unseen; (3) It is through this visibility, modem society exercises its
controlling systems of power and knowledge; (4) Increasing visibility
leads to power located on an increasingly individualized level.

9. Which is not characteristic of Feminism? (1) Feminism seeks to establish
equal opportunities for women in education and employment; (2) Male
participation in feminism is not encouraged by feminists; (3) The social
construct of masculinity is seen by feminism as problematic; (4) The
patriarchal concept of masculinity is seen as harmful to men.

10. In some industries, a company can be successful only by succeeding on a
global scale. In general, which 1s “not considered to be primary factors
motivating companies to expand internationally? (1) Economies of scale,
(2) enhancement of organizational image, (3) economies of scope, (4)
low-cost production.

Please explain the relations of the following concepts to human resource
management (or organizational behavior stud1es) either in English or Chinese
(30%; 15% per item).

1. Socialization

2. Positivism and quantitative research’
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